Data Set S4. Data set for neonate larvae that had fed found on plant and on bag (%).

Forat =  outside (transformated) 
Plantat = on plant (transformated)
data proportion;
input Temperature$ Cultivar$ Block$ Time$ Outside (bag) Forat Plantat Plantat;
datalines;
28 OBt 1 O6	0.0000 0.0000 1.0000 1.0000
28 OBt 2 O6	0.0000 0.0000 1.0000 1.0000
28 OBt 3 O6	0.0000 0.0000 1.0000 1.0000
28 OBt 4 O6	0.0000 0.0000 1.0000 1.0000
28 OBt 1 12	0.0000 0.0000 1.0000 1.0000
28 OBt 2 12	0.0000 0.0000 0.7200 0.8485
28 OBt 3 12	0.0000 0.0000 1.0000 1.0000
28 OBt 4 12	0.0000 0.0000 1.0000 1.0000
28 OBt 1 18	0.5000 0.7071 1.0000 1.0000
28 OBt 2 18	0.5000 0.7071 1.0000 1.0000
28 OBt 3 18	0.5000 0.7071 1.0000 1.0000
28 OBt 4 18	0.5000 0.7071 1.0000 1.0000
28 OBt 1 24	0.5000 0.7071 1.0000 1.0000
28 OBt 2 24	0.5000 0.7071 1.0000 1.0000
28 OBt 3 24	0.5000 0.7071 1.0000 1.0000
28 OBt 4 24	0.5000 0.7071 1.0000 1.0000
28 NBt 1 O6	0.0000 0.0000 1.0000 1.0000
28 NBt 2 O6	0.5000 0.7071 1.0000 1.0000
28 NBt 3 O6	0.5000 0.7071 1.0000 1.0000
28 NBt 4 O6	0.5000 0.7071 1.0000 1.0000
28 NBt 1 12	0.5000 0.7071 1.0000 1.0000
28 NBt 2 12	0.2500 0.5000 1.0000 1.0000
28 NBt 3 12	0.7500 0.8660 1.0000 1.0000
28 NBt 4 12	0.5000 0.7071 1.0000 1.0000
28 NBt 1 18	0.5000 0.7071 1.0000 1.0000
28 NBt 2 18	0.2000 0.4472 1.0000 1.0000
28 NBt 3 18	0.8000 0.8944 0.6669 0.8166
28 NBt 4 18	0.5000 0.7071 1.0000 1.0000
28 NBt 1 24	0.0000 0.0000 1.0000 1.0000
28 NBt 2 24	0.0000 0.0000 1.0000 1.0000
28 NBt 3 24	0.0000 0.0000 1.0000 1.0000
28 NBt 4 24	0.0000 0.0000 1.0000 1.0000
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